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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

June, 2012 

(APPLICATION ORIENTED COURSE) 
ACC-1 : ORGANIZING CHILD CARE SERVICES 

Time : 3 hours 	 Maximum Marks : 100 

Note : Question No. 1 is compulsory. Answer any other four 

questions. 

1. 	(a) Given below is a list of activities. For each, 	10 
state the area of development in which the 

activity primarily fosters development. The 

first one has been done for you as an 

example. 

Activity 	 Area of development 

(e.g.) Running 	Gross motor 

development 

(i) Playing on the slide. 

(ii) Separating beads according to the colour. 

(iii) Scribbling 

(iv) Playing with sand 

(v) Singing rhymes 

(vi) Arranging three pencils according to length 
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(vii) Riding a tricycle 

(viii) Putting pebbles on a circle drawn on the 
floor. 

(ix) Talking about what happened in the 

morning. 

(x) Pouring water from one container into 

another. 	• 

(b) Write short notes (in 150 - 200 words each) 
on any two of the following: 	1 Ox2= 20 
(i) Role of gender in influencing 

childhood experiences. 

(ii) Inter relationship among various areas 

of development. 

(iii) The play way method of teaching 

'earning during the early childhood 

years. 

(c) Giving examples, describe the significance 10 

of the periods of infancy and early 

childhood. 

OR 

What are the factors that should be kept in 10 
mind when buying or making toys/play 

material for young children ? 

2. 	(a) What do the terms "Growth" and 

"development" means ? 

(b) Describe the main factors that influence 10 
development. With the help of examples, 

explain how these factors interact to 

influence development ? 
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3. (a) Why should there be free play, as well as 	5 
structured play, in the schedule of activities 
for young children ? 

(b) What are the aspects that should be kept in 10 
mind when organizing indoor and outdoor 
space in a child care centre ? 

4. (a) Describe the development of thinking in the 10 
first year of life. 

(b) Are children of preschool age able to 	5 
seriate ? Give reasons for your answer. 

5. (a) Describe the common mistakes that toddlers 
make when learning language. 

(b) What are the ways through which caregivers 10 

can enhance and nurture language 
development during toddlerhood ? Explain 
with the help of examples. 

6. (a) Describe the importance of including music 	5 
and movement related activities in the 
schedule of activities for young children. 

(b) Suppose you are a preschool educator. 10 
What measures will you adopt to nurture 
children's creativity ? 
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7. 	(a) How can caregivers promote sharing and 	5 
cooperation among young children ? 

(b) Explain the meaning of the term 10 
'self concept'. Why is it important for the 
child to develop a positive self concept ? 
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